
bl dpyd y`x

The order of the zeriwz is driwz drexz driwz. The xeriy of a
driwz is that of a drexz (around two and a half seconds). There
is a disagreement as to what exactly is considered a drexz. Is it
three blows of the xtey in succession (mixay), or nine very short
blows (what we call a drexz). To fulfill all the opinions, we do
both (driwz mixay driwz, driwz drexz driwz). We also combine
the two driwz drexz mixay driwz. When we blow z''xyz, the
driwz is longer than when we blow z''yz or z''xz.

A long driwz only counts as one blow.


